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QUESTION 1

The scope and size of different service inventory architectures can vary.
A. True

B. False

Correct Answer: A

QUESTION 2

The use of the Intermediate Routing pattern typically results in:

A. common routing logic being removed from service logic and placed into service agents
B. common routing logic being removed from service agents and placed into a database
C. common routing logic being physically centralized into a single service

D. common routing logic being physically centralized into a single service composition

Correct Answer: A

QUESTION 3

Which of the following is not a common impact of applying the Rules Centralization pattern?

A. Access to a single rules service can create a processing bottleneck.

B. An increase in performance demands due to the need to access and evaluate business rules at runtime.
C. Conflicts when also applying the Decoupled Contract pattern.

D. The need to adopt a business rules management product, which can create dependencies on vendor-specific
technology.

Correct Answer: C

QUESTION 4

Which of the following does not make sense when considering the contents of a technical service contract for a SOAP-
based Web service?

A. The Schema Centralization pattern supports the creation of independent data models that define data transmitted in
SOAP messages.

B. The Decoupled Contract pattern results in the separation of the service contract from the service implementation,
allowing the service contract to be independently designed and governed.
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C. The application of the Policy Centralization pattern eliminates redundancy and inconsistency by creating a single,
master policy bound to the WSDL definition of every service in a service inventory.

D. The Legacy Wrapper pattern can be used to expose a legacy system as a SOAP-based Web service with a
standardized technical service contract.

Correct Answer: C

QUESTION 5

Which of the following statements are false?

A. Using the Reliable Messaging pattern can improve the quality of messaging-based communication.
B. The Reliable Messaging pattern is applied to databases, not services.

C. The Reliable Messaging pattern is one of the patterns that can be associated with the Enterprise Service Bus
compound pattern.

D. The Reliable Messaging pattern is always applied together with the Atomic Service Transaction pattern.

Correct Answer: BD
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